Cracow, le 19 Dec 2009

Dear Guys,
About the equality

LI W) (el dz = 1 (1)

At this point of our discussion, one has at hand two defingtidle denoté+ our “untoucha-
ble” ground Hilbert space with basis of statgs)),,cx.

First definition. — After our dis-

cussion with

9 Kus. In fact

(Vn,m € N)(/ W (|z|%) (n|z)(z|m) dz) = (n|m) (2) the left hand

C side of (2) is

a weak ope-

rator integra-
tion.

Second definition — From yester-
day. In fact
the left hand

(Y60 € Ho)( | W(I=P) (@l (1) dz) = (9l) (3) Sieal e
c a strong ope-
“strong operator equality”. {%tr?_r meorer

Let us prove that, in our case the weak definition implies theng definition and then what
was computed yesterday

“weak operator equality”.

L WU).05e(1:) (]2) (2]6) d= @

will always amount to zero a8/ (|z|?).Osc(|z]?) = Wi (|z[*) — Wa(|z[?).



